Linear Equation Word Problems N ot<s

Word problems in Siope-intercept form
. When a word problem involves a constant rate or speed and a beginning amount, it can
be written in slope-intercept form: y= mx+b. To do this, recognize which mumber will
represent m, the rate, and which number will represent b, the y-intercept "
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1. You arevlslting Miami, FL and you toubcfto.eummd. dwpaﬂuhdsamw
using the service and $0.75 per mile. Lb)
(m) C*
A. Write an equation that you could use to find the cost of the uber ride in Miami, FL. Let x
represent the number of miles and y represent the total cost. d=myx4+h
\®A
B. Ho#muchwou[dauber 8 miles cost? Alg=015x ‘.3J
C X
C. Ifanuberri e costs $15, how many miles did the uber travel? R _ gz O-‘15L3) 3
‘S “for \1 = & E
= 0 15X
c. |8 = o.‘ISxfé 5._2,75 - -
12 = 0.115Sx UL _miles
2. You are in the city attending a Lil Baby Concert and your car gets towed. Mbaw
. They also charge you $25.00 per hour)for storage. (s)
(m

A. Write an equation that you could use to the determine the cost of on

the number of hours of storage. ’éf‘— MX+Db =25x+50

B. How much would it cost to have your car towed and in storage for 2.5 hours?
¥ n 2.5 for x =) 2.SL2— 5)*5" =(Cll2-5¢

C. If the bill from tgue tow company is $162.50, how many hours did they have possession of

your car? 4) (_)!-J

¥ Pleg in F102.50 Br 4 then selve for x.
= 2Sx t5¢0

u.z.éof 25x +5C

—~ 50 Z 56

— e Ee = __\ | 4.5 hours =
hz.50 = 25X —) “'5/0’_?) Lm) = - 500

Zz5 .
ﬂu hit the lottery for $30 000, You buy a new pair of retro Jordan’s every mon}'n for $500. If you

continue to spend that same amount every month: ‘é = mx+ b
s\aﬂ’h "3 A. Write an equation to model the situation.

= —§500x ¥+ 39,000
?o\ Lb) B. Find out how much money you have after 5 months. \3

€ 9\’101(*—) In § Hor x j—- ~500(5) +30,000

: _.25004—'30 o0 ©

—W{’l §OOW




Linear Equation Word Problems

Practice
1. Mirna is tracking the progress of her puppy’s growth. Today the puppy is 13 inches tall. The puppy
grows 1.5 inches per month. MJ -3 b
"~ ox)

A. Find an equation that represents the puppy’s height after any given number of months.

j:: 1.9+ {3
B. How tall is the puppy after 9 months?

(4:: \-6(4)“'\3
W= \3.56+ 13
\\a = 2Ww.5 inches

2. Aninternet service provider charges $18 per month plus an initial set —up fee. One customer paid 2

total of $81 after i months of service. rote = m b
A. Write an equation modeling this situation. A, gl = 18 Lz) + b
B. What is the initial set-up fee? B.2\= 34+b
C. How much does it‘éc-ost after 5 mxonths of service? \ 5=

New <equaiton: Y= mx-+b
\é.—: |8x+45
Y= 18(5)+4S

= 904
:‘\y ¥135 \

(£
3. Your gym membership costs $33 per mon()\ after an initial membership fee. You paid a total of $228
$5o0 PET INOTT

after 6 months. yote = m o
A. Write an equation that gives you the total cost related to the months of your gym
membership. ® Solve For b:
B. Find the total cost after 9 n%f?ths. = pXx+b
=53(q)+3o 226 = 33Lu) +b
=991+ 30 2719% = \a% +b

\\é 80 = b
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